§ ALPINE - {, 1-800-805-1790

N . . .
Alpineindustries.com

o

‘ 27 Selvage St.,
A2 |rvington,NJ 07111

item # 430-STA-2 | Automatic Hands-Free Liquid/Gel Hand Sanitizer/Soap Dispenser with Partition Wall Dispenser Stand, 1200 mL, White

STEP 1

STEP 2

PARTS LIST Before beginning assembly, choose Place M6 x 16 screws into the
a desired mounting area. A place where back plate mounting slot
Q the Back Plate can be properly hanged
is preferred.
=
x1
Back Plate
Start with the backplate. Take the M8 x 42 = /
O piece and lightly screw the piece into
the spot shown in the image. Keep it
loose as you will tighten this later at
x 2 the final step
ﬁ ﬁ M6 x 16
X 2
= M6 x 2
asllas
STEP 3 STEP 4 STEP 5
=) Carefully open the unit and attach it against Hang the Dispenser onto your Secure the back plate so that it can
() — x 1 the Mounting plate as shown in the image. desired mounting location hang without wobbling by screwing
M8 x 42 ) 9 the M8 x 42 pi ainst th
o Latch it onto the M6 x 16 screws and then 1€ Mox ez plece agamnstine
tightly screw on M6 x 2 bolts mounting position
= x 1
S M8 x 42 n
x 1
ﬁ M4x 8 x 1
x 1
UNIT
————




